AL B B R FHF -
IBSHELXFRIAZEANCEAM BB EALRELERBIUEREZLHRA -
1. RFEHFHEAR C BPAAAZ 113512 A 10 8 > ABERBKREIEES > @i REEFRE
RARZIEF I o
2. FREKFN  REREBOMLEXBANRLEPFLEBLHUBF FOEREEE > FF U
Bh o FtaRAFRPER)
3. BEVEM CRFUAHBBEFORBIREEETFEMS PR ELEL B EETHI - F
HERMR IR ~ Google R ER TR » AHRMHEE  PEREMNEZRIENSSF -
4. BBEIREA
(W& TEHE ABC =% > £+& T ¥ 3% ABCD w# -
Q%% : A®ES 5,000 T B&ES 3,000 C&ES 2,000t ;:D%ES 1,000 7 -
Q)VFFHENE —LH FHRERANER BRI —RBR -
A BB R 27 -
1MOEFHTBRE—KR -CHRE—KR
11 FHFTBRE_K -D&EE—%
1259 TCRE K> 110-112 F4a 1t FETBR-_K - CH—_% D%~
REenSE13FEFFTBE DK LT B 2&6\?:%:_7’1 » ¥ B 4&7@ n—uﬁ'?fi ; D
BAREE —REHE o HTUEAT D KB 5B
BRI 2 KL% ek ABCD & R > £ £ E# F AR LI > BPph R824 F
EEBR ABC RER > TAHIBESF ABC =& & —_KkFH -
5 RFE(13 F)EBBEREFEH/T)
A %41 8 # : 5,000%0.8=4,000 7T
1.2/ LEEREBEBE SN 4,000 7T 0 124,000 T o
2EHRLBRFEREMEN 4,000 T RERLHEIT S E - il | L BEHER EF=2,480
7T BIE A B4 %E 4 2,480%0.8=1,984 T 0 A pLEEHE o
B z&ﬁ 8 3 : 3,000%0.8=2,400 7T
EH L ERERE S 2,400 7T 0 22 2,400 T3 -
ERALERFBREMN 2,400 T > AERLBEITSIIE > flho I 3L E+ERE=1,680
o Bl EE %4 1,680%0.8=1,344 7T > sApbdE -
& émy 7 ¥ : 2,000%0.7=1,400 7t
AL ERBERE SN 1,400 T 0 24 1,400 T e
ERALEREREBEN 1,400 T 0 AERLEIT TIHE o #léo t REEHHRE=1,180
T BB 4584 1,180%0.7=826 ;T > LApbHEH -
D #3471 74 : 1,000%0.7=700 7T
**#s-zz % RBBE SN 700 5T 2L 700 oI o
BERLEBREREERNT0 T AEBRLEEIT TIHE > flio | /L BHER E=250
7o BB 4% 4 250%0.7=175 7t » LA pbEEd -

e

HBEHERRFS B




